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∑ Fx = 0            2F + Fx = 0            Fx = −2F

∑ Fy = 0            F +  Fy = 0            Fy = −F

∑ Fz = 0            F + F + Fz = 0            Fz = − 2F

∑ Mx = 0          − F ∙ a − F ∙ a +  Mx = 0            Mx = 2Fa

∑ My = 0          − F ∙ a − F ∙ 2a +  My = 0            My = 3Fa

∑ Mz = 0           F ∙ 2a +  Mz = 0            Mz =  −2Fa



 



 

∑ Fx = 0            − 2F + Nx1 = 0            Nx1 = 2F

∑ Fy = 0            − F +  Ty1 = 0            Ty1 = F

∑ Fz = 0           − 2F + Tz1 = 0            Tz1 =  2F

∑ Mx = 0           2Fa +  Mx1 = 0            Mx1 = − 2Fa

∑ My = 0            3Fa +  My1 = 0            My1 = −3Fa

∑ Mz = 0           − 2Fa +  Mz1 = 0            Mz1 = 2Fa



∑ Fx = 0            − 2F + Nx2 = 0            Nx2 = 2F

∑ Fy = 0            − F +  Ty2 = 0            Ty2 = F

∑ Fz = 0           − 2F + Tz2 = 0            Tz2 =  2F

∑ Mx = 0           2Fa +  Mx2 = 0            Mx2 = − 2Fa

∑ My = 0           3Fa − 2Fa ∙  2 +  My2 = 0            My2 = Fa

∑ Mz = 0           − 2Fa + 2Fa +  Mz2 = 0            Mz2 = 0



∑ Fx = 0            F + Nx3 = 0            Nx3 = −F

∑ Fy = 0            2F − 2F +  Ty3 = 0            Ty3 = 0

∑ Fz = 0            F − 2F + Tz3 = 0            Tz3 =  F

∑ Mx = 0          − 3Fa + 2F ∙ 2a +  Mx3 = 0             Mx3 = −Fa

∑ My = 0           2Fa +  My3 = 0            My3 = −2Fa

∑ Mz = 0         − 2Fa +  F ∙ 2a +  Mz3 = 0            Mz3 = 0



∑ Fx = 0             F + Nx4 = 0            Nx4 = −F

∑ Fy = 0             2F − 2F +  Ty4 = 0            Ty4 = 0

∑ Fz = 0             F − 2F + Tz4 = 0            Tz4 =  F

∑ Mx = 0           − 3Fa + 2F ∙ 2a +  Mx4 = 0            Mx4 = −Fa

∑ My = 0            2Fa + F ∙  a − 2F ∙ a +  My4 = 0            My4 = −Fa

∑ Mz = 0          − 2Fa +  F ∙ 2a +  Mz4 = 0            Mz4 = 0



∑ Fx = 0           − 2F + F + Nx5 = 0           Nx5 = F

∑ Fy = 0            2F − 2F +  Ty5 = 0            Ty5 = 0

∑ Fz = 0           −  F + Tz5 = 0            Tz5 =  F

∑ Mx = 0          − 2Fa + F ∙ 2a + Mx5 = 0            Mx5 = 0

∑ My = 0            2Fa + F ∙ a − 2F ∙  a +  My5 = 0            My5 = −Fa

∑ Mz = 0            3Fa − 2F ∙ 2a +  Mz5 = 0            Mz5 = Fa



∑ Fx = 0            − 2F + F + Nx6 = 0            Nx6 = F

∑ Fy = 0             2F − 2F +  Ty6 = 0            Ty6 = 0

∑ Fz = 0            − F + Tz6 = 0            Tz6 =  F

∑ Mx = 0           − 2Fa + F ∙ 2a + Mx6 = 0            Mx6 = 0

∑ My = 0            2Fa + Fa − 2F ∙ a − Fa + My6 = 0            My6 = 0

∑ Mz = 0            3Fa − 2Fa ∙ a + Mz6 = 0            Mz6 = Fa

 
 



∑ Fx = 0           2F − 2F +  Nx7 = 0            Nx7 = 0

∑ Fy = 0            F − F +  Ty7 = 0            Ty7 = 0

∑ Fz = 0            F −  2F + Tz7 = 0            Tz7 =  F

∑ Mx = 0         − 2Fa − F ∙ a + 2F ∙ a + F ∙ a +  Mx7 = 0            Mx7 = 0

∑ My = 0         − 3Fa + 2Fa ∙ 2 − 2F ∙ a + 2F ∙ a +  My7 = 0            My7 = −Fa

∑ Mz = 0         − 2Fa + F ∙ 2a − 2F ∙ a + 2F ∙ a +  Mz7 = 0            Mz7 = 0

 
 



∑ Fx = 0           2F − 2F +  Nx8 = 0            Nx8 = 0

∑ Fy = 0            F − F +  Ty8 = 0            Ty8 = 0

∑ Fz = 0            F −  2F + Tz8 = 0            Tz8 =  F

∑ Mx = 0          − 2Fa − F ∙ a + 2F ∙ a + F ∙ a +  Mx8 = 0            Mx8 = 0

∑ My = 0          − 3Fa + F ∙ a + 2F ∙ a − 2F ∙ a + 2F ∙ a +  My8 = 0            My8 = 0

∑ Mz = 0          − 2Fa + F ∙ a + F ∙ a − 2F ∙ a + 2F ∙ a+ Mz8 = 0            Mz8 = 0

 
 

 
 



 





∑ Fx = 0            8 + Fx = 0            Fx = −8 kN

∑ Fy = 0            − 6 + Fy = 0             Fy = 6 kN

∑ Fz = 0            2,5 + Fz = 0              Fz = −2,5 kN

∑ Mx = 0          − 2,5 ∙ 0,4 + Mx = 0             Mx = 1 kNm

∑ My = 0          − 2,5 ∙ 1 +  My = 0              My = 2,5 kNm

∑ Mz = 0           − 6 ∙ 1 + Mz = 0              Mz = 1 kNm 





∑ Fx = 0            − 8 + Nx1 = 0              Nx1 = 8 kN 

∑ Fy = 0              6 + Ty1 = 0             Ty1 = −6 kN

∑ Fz = 0             − 2,5 + Tz1 = 0              Tz1 =  2,5 kN

∑ Mx = 0             1 +  Mx1 = 0            Mx1 = − 1 kNm

∑ My = 0            2,5 +  My1 = 0            My1 = − 2,5 kNm

∑ Mz = 0              6 + Mz1 = 0            Mz1 = − 6 kNm



∑ Fx = 0            − 8 + Nx2 = 0             Nx2 = 8 kN 

∑ Fy = 0             6 + Ty2 = 0             Ty2 = −6 kN

∑ Fz = 0            − 2,5 + Tz2 = 0            Tz2 =  2,5 kN

∑ Mx = 0             1 +  Mx2 = 0            Mx2 = − 1 kNm

∑ My = 0             2,5 − 2,5 ∙  1 +  My2 = 0            My2 = 0

∑ Mz = 0             6 − 6 ∙ 1 +  Mz2 = 0            Mz2 = 0



∑ Fx = 0           − 2,5 + Nx3 = 0            Nx3 = 2,5 kN 

∑ Fy = 0            6 − 6 + Ty3 = 0            Ty3 = 0

∑ Fz = 0            8 − 8 + Tz3 = 0            Tz3 =  0

∑ Mx = 0            6 − 6 ∙ 1 +  Mx3 = 0            Mx3 = 0

∑ My = 0            2,5 − 2,5 ∙  1 +  My3 = 0            My3 = 0

∑ Mz = 0           − 1 +  Mz3 = 0            Mz3 = 1 kNm



∑ Fx = 0            − 2,5 + Nx4 = 0            Nx4 = 2,5 kN 

∑ Fy = 0              6 − 6 + Ty4 = 0            Ty4 = 0

∑ Fz = 0              8 − 8 + Tz4 = 0            Tz4 =  0

∑ Mx = 0             6 − 6 ∙ 1 +  Mx4 = 0             Mx4 = 0

∑ My = 0            2,5 − 2,5 ∙  1 +  My4 = 0            My4 = 0

∑ Mz = 0           − 1 +  Mz4 = 0             Mz4 = 1 kNm



∑ Fx = 0             6 − 6 + Nx5 = 0             Nx5 = 0 

∑ Fy = 0             8 − 8 + Ty5 = 0             Ty5 = 0

∑ Fz = 0            − 2,5 + Tz5 = 0            Tz5 = 2,5 kN

∑ Mx = 0             8 ∙ 0,6 − 8 ∙ 0,6 − 2,5 + 2,5 ∙ 1 + Mx5 = 0            Mx5 = 0

∑ My = 0            6 ∙  0,6 − 6 ∙  0,6 + 1 +  My5 = 0            My5 = −1 kNm

∑ Mz = 0            6 − 6 ∙ 1 +  Mz5 = 0            Mz5 = 0



∑ Fx = 0            6 − 6 + Nx6 = 0            Nx6 = 0 

∑ Fy = 0            8 − 8 + Ty6 = 0            Ty6 = 0

∑ Fz = 0           − 2,5 + Tz6 = 0             Tz6 = 2,5 kN

∑ Mx = 0            8 ∙ 0,6 − 8 ∙ 0,6 − 2,5 + 2,5 ∙ 1 + Mx6 = 0            Mx6 = 0

∑ My = 0            6 ∙  0,6 − 6 ∙ 0,6 + 1 − 2,5 ∙ 0,4 + My6 = 0            My6 = 0

∑ M𝑧 = 0            6 − 6 ∙ 1 +  Mz6 = 0            Mz6 = 0







∑ Fx = 0             10 − 3 + Fx = 0            Fx = −7 kN 

∑ Fy = 0            Fy = 0            Fy = 0

∑ Fz = 0             6 + Fz = 0            Fz = − 6 kN

∑ Mx = 0           − 6 ∙ 0,35 +  Mx = 0            Mx = 2,1 kNm

∑ My = 0           − 3 ∙ 0,4 − 6 ∙ 0,7 +  My = 0            My = 5,4 kNm

∑ Mz = 0            Mz = 0            Mz = 0





∑ Fx = 0            − 7 + Nx1 = 0            Nx1 = 7 kN 

∑ Fy = 0            Ty1 = 0             Ty1 = 0

∑ Fz = 0           − 6 + Tz1 = 0              Tz1 =  6 kN

∑ Mx = 0            2,1 +  Mx1 = 0            Mx1 = − 2,1 kNm

∑ My = 0            5,4 +  My1 = 0            My1 = −5,4  kNm

∑ Mz = 0           Mz1 = 0             Mz1 = 0



∑ Fx = 0            − 7 + Nx2 = 0            Nx2 = 7 kN 

∑ Fy = 0           Ty2 = 0            Ty2 = 0

∑ Fz = 0           − 6 + Tz2 = 0             Tz2 =  6 kN

∑ Mx = 0            2,1 +  Mx2 = 0            Mx2 = − 2,1 kNm

∑ My = 0            5,4 − 6 ∙ 1,2 + My2 = 0            My2 = 1,8 kNm

∑ Mz = 0           Mz2 = 0            Mz2 = 0



∑ Fx = 0            − 6 + Nx3 = 0             Nx3 = 6 kN

∑ Fy = 0          Ty3 = 0            Ty3 = 0

∑ Fz = 0            7 − 10 + Tz3 = 0            Tz3 =  3 kN

∑ Mx = 0         Mx3 = 0            Mx3 = 0

∑ My = 0          5,4 − 6 ∙ 1,2 + My3 = 0             My3 = 1,8 kNm

∑ Mz = 0         − 2,1 +  Mz3 = 0             Mz3 = 2,1 kNm



∑ Fx = 0           − 6 + Nx4 = 0            Nx4 = 6 kN

∑ Fy = 0           Ty4 = 0            Ty4 = 0

∑ Fz = 0             7 − 10 + Tz4 = 0             Tz4 =  3 kN

∑ Mx = 0          Mx4 = 0            Mx4 = 0

∑ My = 0           5,4 − 6 ∙  1,2 − 3 ∙ 0,4 + My4 = 0            My4 = 3 kNm

∑ Mz = 0          − 2,1 +  Mz4 = 0            Mz4 = 2,1 kNm



∑ Fx = 0            7 − 10 + 3 + Nx5 = 0            Nx5 = 0

∑ Fy = 0           Ty5 = 0            Ty5 = 0

∑ Fz = 0           − 6 + Tz5 = 0            Tz5 = 6 kN

∑ Mx = 0          − 2,1 +  Mx5 = 0            Mx5 = 2,1 kNm

∑ My = 0           6 ∙  1,2 + 3  ∙ 0,4 − 5,4 + My5 = 0            My5 = −3 kNm

∑ Mz = 0          Mz5 = 0            Mz5 = 0



∑ Fx = 0            3 + 7 − 10 + Nx6 = 0            Nx6 = 0

∑ Fy = 0           Ty6 = 0             Ty = 0

∑ Fz = 0           − 6 + Tz6 = 0            Tz6 = 6 kN

∑ Mx = 0          − 2,1 +  Mx6 = 0            Mx6 = 2,1 kNm

∑ My = 0            6 ∙  0,7 + 3  ∙ 0,4 − 5,4 + My6 = 0            My6 = 0

∑ Mz = 0           Mz6 = 0             Mz6 = 0



∑ Fx = 0            Nx7 = 0            Nx7 = 0

∑ Fy = 0            10 − 3 − 7 +  Ty7 = 0            Ty7 = 0

∑ Fz = 0           − 6 + Tz7 = 0            Tz7 = 6 kN

∑ Mx = 0            6 ∙  0,7 + 3  ∙ 0,4 − 5,4 + Mx7 = 0            Mx7 = 0

∑ My = 0            2,1 +  My7 = 0            My7 = −2,1 kNm

∑ Mz = 0           Mz7 = 0            Mz7 = 0



∑ Fx = 0          Nx8 = 0            Nx8 = 0

∑ Fy = 0           10 − 3 − 7 +  Ty8 = 0            Ty8 = 0

∑ Fz = 0           − 6 + Tz8 = 0            Tz8 = 6 kN

∑ Mx = 0           6 ∙  0,7 + 3  ∙ 0,4 − 5,4 + Mx8 = 0             Mx8 = 0

∑ My = 0          2,1 − 6  ∙ 0,35 +  My8 = 0             My8 = 0

∑ Mz = 0         Mz8 = 0             Mz8 = 0





 



https://www.scribd.com/document/374068538/7-16-Prostorni-Nosaci
https://www.swietelsky.hr/izgradnja-cesta-i-mostova/


 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

  

  

 


